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[31] [A]
AR -I (PART -1)
9 {9 9 fAENTET (CHILD DEVELOPMENT AND PEDAGOGY)
3% : i g7 % v &7 % [ @ag SfEad Awey g
Direction : Answer the following questions by selecting the most appropriate option.
1. JREROT & ‘HEs¥ehal APhH i 1. Who propounded the 'Need
&1 gfodres e feam ? Hierarchy Theory' of Motivation ?
[1] & [2] F&i [1] Hull [2] Maslow
[3] Tefhee [4] €& [3] Atkinson  [4] Thomson
2. foefofag & @ S9-9@ Afda e 2. Which of the following is not a
H ward fafyr 7&f ® 7 projective technique of personality
assessment.?
[1] q=-TrETd [1] Word-association
(2] EH?RTE[% [2] Sentence completion
[3] gUi9 i [3] tExpressive movement
[4] FHSIHTT [4] Sociometry
3. e & @ P9 @ 9@ 3. Which of the following is not an
Rers 78 B ? extrinsic motive ?
[1] 9 & for Qe wReqet e [1] Competing in sport for trophy
[2] a5 % e E} gg;ggjzchizrl Szleirv};ce for self-
3] 3'“"5@@3 %ﬁ SEIECRICES satisfaction
[4] T G{eT W T qUe- G [4] Buy one get one free
4. JERRe STwary qee femE & . 4. Thematic Apperception Test is used
O &Y ST H WO ] to measure the ........... of students.
[1] gi& [2] STf¥era [1] Intelligence [2] Aptitude
[3] AT [4] AT [3] Attitude [4] Personality
5. =ifofad § @ P9-91 HI gHESH 5. Which of the following statement is
o O 78 T 7 not correct with reference to
. i ?
[1] =2 ﬂﬁﬁgﬁmﬂﬁ S FT B E[lffuISttr:rzrzlltte.s imbalance
(2] & 3 il zﬁtﬂqﬁ i %Iji ! [2] It motivates to change the life as
ki D ST Kid per the demand of the situation.
IR HE B o [3] It gives ability to bring desirable
[3] I8 it o Rafqat § aisAE changes in the conditions of
qRadT @ Bl &HAT AT B environment.
[4] GRS & HAWHE H Al aue [4] In the absence of adjustment one
o fir & B ' Y is surrounded by tension and
anxiety.

Level-2/803

P.T.O.



[A]
6.

[~

[

|«©

e & e faee fEid &
IR g frehraTcTeh STeel § ‘Ieled
% e [T B ® ?

[1] Ha<r-Osi

PR CRSIERIED

[3] Hoi-Hispareeh

[4] SNuenfRe-HiharcTe
gﬂﬁﬂﬁﬁﬁﬁﬁ?—wﬁaﬁﬂ'& &
?

RFET & T- ARl &
I {6 2|
T

[1] zﬁw T U - R ST
g

[2] T S e - drEal s
Gyt

[3] wrEar T - qEl STae
ool T QiehT

[4] SHeFaqH
KBl

frfafed & @ aF-a1 da R &

gleﬁﬁdn Tfaesar fasid 8 9eig 787

?

[1] Sfem=

2] Wﬁﬂﬁ

[3] ©Edq:

[4] grser

frfofed & & @9-1 FU9 g

% daet § wd 78 ' 7

[1] SPERT § SRERCIES-THEIdES
faQyar w2 S 2

[2] SfERT i @REs § O
THNEE B Tl ol

[3] Af¥EgRT § eHfec-a%g ey U
ST R

[4] ofgRt Semq T@ i @Mt
B B

S - =R ST

Level-2/803

[4]

6.

[~

|

|©

According to Piaget's cognitive
development theory, the 'ability of
reversibility' develops during which
developmental stage ?

[1] Sensory motor

[2] Pre-operational

[3] Concrete-operational

[4] Formal-operational

Which of the following match is not
correct ?

Erikson's Stages of Serial
Psycho-social Number of
Development Stages

[1] Initiative Vs Guilt - Stage 3

[2]¢]1dentity Vs Role - Stage 5
Confusion

[3] Autonomy Vs - Stage 1
Shame and Doubt

[4] Industry Vs - Stage 4
Inferiority

Which of the following elements is
not related to Skinner's operant
conditioning theory ?

[1] Extinction

[2] Discrimination

[3] Spontaneous recovery

[4] Reinforcement

Which of the following statement is

not correct with reference to Attitude ?

[1] Attitude has motivational-
affective characteristics.

[2] Attitude range strongly
positive to strongly negative.

[3] Attitude have a subject-object
relationship.

can

[4] Attitude is innate and acquired
both.



5

frfofag & @ 9-a1 F99 I=t 3
e & IR & @& 2 ?

[1] b A= SMgdReedT & Th
SR 2

[2] faw@ Uh TERed gEed SgE
HA B

[3] foerre wep Eerl ufRar B

[4] fom & fafr= oM eradsfa
Tt 2l

11. %ed B S g g TE, T

TR ©

[1] =l anfsses e @

[2] | SMieaeh G

[3] STemfeash & A

[4] snfeses Uq STemiessh qO&T A
frfofad & & $F-8 gorTedhar @l
faQar 728 ® ?

[1] Hiferbar [2] Srsfer

[3] ==l [4] RIS
frfafed & § Pi9-A1 B Rwo-
ANTERTH Uik Sl Ueiae 78 el & 7
[1] fareres @ fawerr S

[2] T3es 1 AT @y

[3] Trees @ fawg &

[4] e &1 RS &9

gﬁg’aﬁ?ﬁmw%qﬁaﬁﬁaﬁ
?

[1] G&THH

PAREIRIRES

[3] GCEAT Td YhEicHs aHl

[4] 78 4 3B T

Level-2/803

[5]

11. Cattell's

[A]

Which of the following statement is
correct about the development of
children ?

[1] Development is a product of
only hereditary.

[2] Development follows a random
pattern.

[3] Development is a cumulative
process.

[4] Different aspects of development
are not interrelated.

culture free test of

intelligence is a type of :

[1] .Individual Verbal Test

[2] Group Verbal Test

[3] Non-Verbal Test

[4] Verbal and Non-Verbal Test
Which of the following is not a
characteristic of creativity ?

[2] Flexibility

[4] Fluency

[1] Originality
[3] Rigidity
Which of the following factors does not
affect the teaching-learning process ?
[1] Teaching skill of teacher

[2] Mental health of teacher

[3] Subject knowledge of teacher

[4] Physical appearance of teacher
What kind of changes does growth
bring about in children ?

[1] Structural

[2] Functional

[3] Structural and functional both

[4] None of these



[A]

‘@O Y UER & Al s= @
foren & Q. wh qewEqel qr § 7

[1] SfcrasTet

[2] 69 STrTRRdl

[3] SRR STewe

[4] 9% gfa

ARG s et M A | D o | B
JO® el SRRl B gAERId B
e TR ol geae ST © ¢

[1] M= S

[2] REcHsi A
KIRGEESRERAIR]

[4] |aq

T S oed o (R 8 W) &l
feam # oM sEar ¥, FHea @

[1] fadfes-Hea

[2] Hifremifestd

[3] |t

[4] g

TH TER A TR SRl U

FTE WX B e H TN A9 §
ﬁa%waaa%aﬁzﬁ%ﬁrhm
T

[1] Ty e
[2] sifeRT adiEroT
[3] smfesss TETeT
[4] TSI Oerer

frfefaa & 9 S9-9 afka stiwar
% i fofy 788 ?

[1] TR

[2] STadtie

[3] SATHRAT

[4] I TEad

Level-2/803

[6]

'Acceleration' is an important plan
for education of which type of
special children ?

[1] Gifted

[2] Slow learner

[3] Learning disabled

[4] Mentally retarded

What type of reinforcement schedule
is to reinforce each correct response of
the learner, in operant conditioning ?
[1] Fixed interval

[2] Variable interval

[3] Fixed ratio

[4]" Continuous

'‘Development  proceeds in the
direction of longitudinal axis (head
to foot)', called :

[1] Cephalic-Caudal
[2] Proximodistal
[3] Spiral

[4] Circular

A type of intelligence test in which
the questions are similar in difficulty
level but more importance is given to
the time element :

[1] Speed Test
[2] Power Test
[3] Verbal Test
[4] Performance Test

Which of the following is not a
subjective method of personality
assessment ?

[1] Interview

[2] Observation

[3] Autobiography

[4] Word Association



20.

dea g 7 offed, gorrerar # e
Td gEeH ¥ S| WF Bl T
IEET B -

[1] STaafrde Rrrarett &

[2] sTa:Qafedes Rrrarett @

[3] STaQIBAg et &

[4] sTufera Feranelt @

X S STl % WSl (G &Y
fhl SN % UEHHH & ATEA H

o fear ?

[1] GHash qreasrs
[2] fafarse qreased
[3] |t qrgEerd
[4] Tehighd TEThA

22. [ & HESH-Hiepos HEid &

forem et fomam 7
[1] arFmceht
[2] TReEA

[3] Prgaa
[4] STHBTSAT

23. 98 HAIEHT 1 Feaat B, REs g

s AU Wd b e Rl TR I
AR & e URafdd F F EE

AT & ?
[1] B [2] FfRRTh
[3] AFT=A®RT  [4] 989
frfefag & @ -1 gk FawE &
gfs |XE Hisa & S 78T © 7
[1] wfsean [2] HsH
RIRERRELS! [4] S@R

25. §& & P fsia & gfiues e
fepam ?
[1] MR [2] PR
RIESSER [4] a=9

Level-2/803

[Z]

[A]
Meenal is average in intelligence,
low in creativity and high level in
adjustment. This is an example of :
[1] Inter Individual Differences
[2] Intra Individual Differences
[3] Observable Differences
[4] Expected Differences

21. Which type of curriculum did Bruner

suggest to follow for the cognitive
development of children ?

[1] Inclusive curriculum

[2] Special.curriculum

[3] Spiral curriculum

[4] Integrated curriculum

Who developed the Socio-cultural
theory of development ?

[1] Vygotsky

[2] Erikson

[3] Kohlberg

[4] Bronfenbrenner

What is the mechanism called,
through which a child tries to
change his own ego to that of
someone else ?

[1] Identification [2] Rationalization
[3] Sublimation [4] Projection
Which of the following component
is not the part of Guilford structure
of Intellect model ?

[1] Operation
[3] Content [4] Product

Who propounded the
theory of Intelligence ?

[1] Gardner [2] Guilford
[3] Sternberg [4] Vernan

[2] Cognition

Triarchic

P.T.O.



[A]
26.

TR ®  olg-TRRAS dfed
i # 9RerR wd faee feE
el o % I & 7

[1] ¥ [2] AwEshiiaed
[3] THFfReR  [4] sMiEd
21. Frfoied & & @-a1 g a8 78

g7
fraia Rrsia
s
[1] g - e f9em
EAG]
[2] g0 S IS C
Rrsia
[3] CREFEE - HANOMINGG e
Rrsia
[4] TRl — Ao faem Ria

frfofaa & @ a9-9 w6 gOAed

iy it fadwar 78 2 ?

[1] 37O &9arstl Td et & e
RTEHT

[2] ¥ U6 gEA H FHE BT

[3] Hfid Sepiemd

[4] FaeR | STl

AR TR HE 51”7 A Qe

B 78 R fhed g & R ' 7

[1] AR [2] TSHhicS

[3] g [4] dffeest
frfofas miaenet & & B
TeeedrE d deftq 78 2 ?

[1] iEa [2] TR

[3] TR [4] FERX

[8]

'Family and School' are the examples
of which environmental system in
Bronfenbrenner's Bio-ecological
Model theory ?

[1] Macro system [2] Micro system

[3] Exosystem  [4] Chromosystem

Which of the following pair is not

correct ?

Theory Theory
Propounder
[1] Piaget. — Cognitive

Development Theory

[2] Bandura Social

Learning
Theory

[3] Erikson Psycho-socio

Development Theory

[4] Vygotsky — Moral Development

Theory

Which of the following is not the

characteristic of a well-adjusted person ?

[1] Awareness of his own potentials
and limitations

[2] Respecting himself and others

[3] Balanced aspirations

[4] Rigidity in behaviour

"Mental health is the full and

harmonious functioning of the whole

personality." This definition of

mental health is given by whom ?

[1] Menninger [2] Hadfield

[3] Drever [4] Waltin

30. Out of the following Psychologists,

who is not related with Gestaltism ?
[1] Kohler [2] Koffka
[3] Kretschmer [4] Wertheimer

Level-2/803



[91] [A]
[T - II (PART - II)
A7 (= g 3fSH) [ LANGUAGES (HINDI & ENGLISH) |

f&=<t (HINDI)
fdsr : e g7 % v &7 % [ @ag SfEa Awey g
31. fopar @l gt ¥ oG faehed T 34. T F g F BA-A TW @@ T 7
(1] WY 9 Rrgam 2 - SR (1] &= - &
o I S L
[2] 9 8 W Tl & - STHiS 3] T - ARG
foran [4] eRER - e
[3] ot arh H R e T R 35. “¥e. SR Wl o’ dqEd H g
- femv® Bpar ‘e’ % | PHE-dl Ge R 7
[4] gofiel SIR-9R-9 &9 & ® - [1] sTifceres
THE fohdT [2] HrEErs
v favand ¥ [4] AfTaTe®
[1] %d, STEIN, HeMT 36. ‘SETdl I H W ©
[2] %, TN, HEmeT [1] et
[3] F3b, TGV, ST 2] Bg=
3] g
[4] %A, 3THIY, ST 5]
[4] it
33. ‘HrEER % H GOl Ai-fOees ©
31. fodm @t 3ftc | org faeben g -
[1] e + ST=RY
[1] 7& - J&
2 S [2] @fte - gHie
[3] &g + SR (3] s - R
[4] | + ST [4] SN - W=

Level-2/803 P.T.O.



[A]

Tl o= & P9-6 G § 7
[1] &9 @ dfr

[2] o1 @ Gfy

[3] 99 &R Gy

[4] &S €iY

39. ‘REmar #1 9% gaEEt B ¢

[1] IhaT
[2] S
[3] aist
[4] =BT

40. 79 fTecq ¥ URYEES AN #;

ST B3 B 7

[1] o uf= feelt g & m

[2] 9 UfE B @M I

[3] 9o dredt Fem # e sl

[4] 9@ & T HB. = EF © o

41. ‘gme W Sse-d X OREE T W@ g,

g A 317 a9 ¥ fR wdem &
ST BT & °

[1] J5uar=h
PARGEEIEE?
[3] Me=E=®
[4] STg=E=h

[10]

42.

g o & vgare dled ST @&

ST e & 7
[1] Sgarer
[2] ==&
[3] diera
[4] T

43. ‘GO 9= § -9 q99 & ?

[1] FHERT 99
[2] &= §99
[3] STEAEE THE

[4]/91g% T T

44, 9 9= ¥ O IO B TEN 78T

g & ?

[1] STgaX
(2] STgTH
[3] STg=X
[4] ST

45. fqa @ &1 w9 o= § 2

g7

[1] T st |

[2] 39T o) H

[3] dewa g |

[4] Soga &+t o=t |

Level-2/803



37Nl (ENGLISH)

[11]

[A]

Direction : Answer the following questions by selecting the most appropriate option.

46.

Select the appropriate one word
substitution for the following :

Former students of a school or college
[1] Emblem [2] Alumni
[3] Expert [4] Incharge

41. Change the Narration :

"I'm taking the children to the
z00 tomorrow." She said.

[1] She told that she would be
taking the children to the zoo the
day after

[2] She said that she will take the
children to the zoo the next day

[3] She told that she will be taking
the children to the zoo

[4] She will take the children‘to the
700, she said

48. Choose the correct synonymof :

Genius
[1] Happy
[2] Cheerful
[3] Talented
[4] Comfort

49. Select the appropriate preposition for

the blank :

He has not yet recovered .......... his
illness.

[1] over [2] in

[3] at [4] from

Level-2/803

50. Choose the option that brings out the

meaning of the underline idiom :

A lion's share of India's annual
budget is for defence.

[1] major share
[2] minor amount
[3] small

[4] very little

al. Select'the correct antonym of :

Gloomy
[1]} Praise [2] Coarse
[3] Cheerful [4] Dismal

94. Choose the appropriate conjunction

for the blank :

I shall not go .......... I am invited.
[1] and [2] unless

[3] but [4] there

93. Change the narration to Reported

Speech. Choose the right option :

"Who has been using my
typewriter ?" Said Mother.

[1] Mother asked who has been
using her typewriter

[2] Mother said who was using her
typewriter

[3] Mother asked who had been
using her typewriter

[4] Mother asked her typewriter was
being used by who



[A]

4.

Select the correct meaning of the
underlined phrasal verb :

Who can say what will turn up next ?
[1] remember

[2] divide

[3] end

[4] happen

99. Choose the part of sentence that has

CITOor

she does not/ resemble to / either of /

A B C
her parents
D
[1] A 2] B
3] C [4] D

56. Select the correct tense form from the

options given :
When 1 first (come) to this‘house, it
(be) a very quiet area :

[1] comes, is
[2] came, was
[3] coming, is

[4] come, are

57. Select the correct tense form from the

options given :
Peter (try) to come in quietly but his
mother (hear) him.

[1] tried, heard
[2] trying, hears
[3] was trying, was hearing

[4] is trying, hears

[12]

58.

Change the voice from Active to
Passive and select the correct option :

Bees make honey
[1] Honey is make by bees
[2] Bees are making honey
[3] Honey are made by bees
[4] Honey is made by bees

59. Change the voice and select the

correct option :

Somebody has put out the light.

[1] The light has put out by
somebody

[2] 'The light has been put out by
somebody

[3] Somebody has been out to put
light

[4] The light is being put out by
somebody

50. Select the correct preposition for the

blank :
Ishalldoit......... pleasure.
[1] in
[2] with
[3] about

[4] over

Level-2/803
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[A]

AR - ITI (PART - III)
9MY 374 (GENERAL STUDIES)

RS ARG, Tiiched ST T4 | ST U§ SIS (QUANTITATIVE APTITUDE,
REASONING ABILITY AND G.K. & AWARENESS)

3 : e 797 % o7 &7 & [ qag ST [dwey g

Direction : Answer the following questions by selecting the most appropriate option.

61.

63. BN & IR

RE seR gl &1 T oy 9 o

3G TR UfeT TR B
[1] T@RX & [2] ¥R |
[3] weh & [4] g0 &

62. ST F AT & GRET HUA G Hel

“gg WX T & fUar @ 9l @ 9
g’ﬁ eIV TN @ fFH YR geied
?

[1] =@
[2] St
[3] weie
[4] 9

13
{4
4
s

o™ ¥ dF

[1] STUA
[2] RQPA
[3] MLKA
[4] HGFA

5 T A £ | A A ) | R Ol
HIoT -

LXF, MTJ, NPN, OLR,

[1] PHV [2] PIU
[3] PIW [4] PKX

Level-2/803

61.

Earth is related to Axis in the same
way as wheel is related to :

[1] Tyre [2] Car
[3] Road [4] Hub

62. Anil introduces Prashant, "He is the

husband of the grand daughter of the
father' of my father". How 1is
Prashant related to Anil ?

[1] Brother

[2] Brother in law
[3] Nephew

[4] Son

63. Four groups of letters are given

below, three of them are alike in
certain way while one is different,
choose the odd one :

[1] STUA
[2] RQPA
[3] MLKA
[4] HGFA

Find the next term in the following
letter series :

LXF, MTJ, NPN, OLR,
[1] PHV [2] PIU
[3] PIW [4] PKX



[A]

65.

el Fited g 4 '786' @1 o
'Study very hard', '958' & 1¢f 'Hard
work pays', '645' & & 'Study and
work', @ 'very' & IS T BN ?
[1] 8 2] 6

[31 7 [4] 5

gk A, B ¥ 40 Hex Ro-uied H
8, C, B & 40 #X eRor-qd ¥ &,
WC, A G %g f&sm d arm ?

[1] @

[2] ufe=H

[3] SR-Fd

[4] <fRror

150 foenfit g o of|d &fw 35
IR =T oSO fERiE @
AFq W<hi®s 39 B qA ST
frenfat @1 ofted i 15 &, @
e § SO 8N g faeniEr &
&1 § T

[1] 120 [2] 125

[3] 135 [4]-.140

I a*=b,b" =c X c‘=a, @
xyz 1 A &1 ERM ?

[1] abc [2] 1

1
3] — 4] ab
[]abc [4] a

69. € BIE § B T F FE H|

HIOT ST 4, 5, 6, 15 T41 18 § Yofa:

g & -
[1] 800 [2] 225

[3] 900 [4] 361

Level-2/803

[14]

65. In a certain code '786' means 'Study

very hard', '958' means 'Hard work
pays', '645" means 'Study and work’,
which is the code for 'very' ?

[1] 8 [2] 6
[3] 7 4] 5
If A is 40 meter South-West of B, C

18 40 meter South-East of B, then C
1s in which direction of A ?

[1] East
[2] West
[3] North-East
[4] South

67. The average marks obtained by 150

candidates was 35. If the average
marks of passed candidates was 39
and that of the failed candidate was
15, find the number of candidates
who passed the examination :

[1] 120 [2] 125
[3] 135 [4] 140

If a*=b,b” =c and c*=a, then
what is the value of xyz ?

[1] abc [2] 1

1
3] — 4] ab
[]abc [4] a

69. Find the smallest perfect square

number which is exactly divisible by

4,5,6,15and 18 :
[1] 800 [2] 225

[3] 900 [4] 361



10.

5" x (V5] 2 w7 2w ?

1 1
1] — 2] —
55 2l s

1 1
3] — 4] —
Bl 55s 4 s

71. BT O THHARE A B X A 15 a9

¥ AT & SR 8, O fea ast | a8
IE! AT & & § 8 A1 B S ?

[1] 30 ¢ [2] 40 %

[3] 60 T [4] 45 a9

& 25 oeHl fhel Bad @ 60 &l
T Fe Tha &, A 10 FAEH I B
& fhaw ot § @le g ?

[1] 125 RS [2] 92 fes
[3] 100 f&F [4] 150 fes
13. IR x+%=5 2, @ x3+i3 H HAH
1 2R ? ’
[1] 125 [2] 110
[3] 115 [4] 105

=1 oi®% H@ell & SFT 9T &0
BT ?

2, 7,24, 77, 238, ........
[1] 721 [2] 722
[3] 723 [4] 733

Level-2/803
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10.

[A]
What is the value of
(\/g)_S/Zx(\/g)_S/Z )
1 1
1] — 2] —
[1] 25 (2] 125
1 1
3] — 4] —
5] 325 4] 625

71. A sum of money doubles itself in 15

years at compound interest. In how
many years it will become 8 times at
the samie.compound interest rate ?

[1] .30 years [2] 40 years

[3] 60 years [4] 45 years

If 25 men can reap a crop in 60 days,
then in how many days will 10 men

reap the crop ?
[1] 125 days [2] 92 days

[3] 100 days [4] 150 days

13. If x+l =5, then what is the value

X

of x3 +L3 ?

X
[1] 125 [2] 110
[3] 115 [4] 105

Find the next term in the following
number series :

2, 7,24, 77, 238, ........
[1] 721 [2] 722
[3] 723 [4] 733



[A]

15.

\/8+2\/8+2\/8+ ........ %l HM FId
FITT

[1] 8 [2] 10
[3] 11 [4] 4
I a B g T H S0% g

B 9, df 36% &9%d & gfaed gs
BIRECTIE L

[1] 50%
[3] 125%

[2] 100%
[4] 150%

77. IR —H S X, + F T+, +~ H T +,

XFAT—F, AW 15-5-5%x20+ 10
& AN T BT 7

[1] 70 [2] 78
[3] 75 [4] 73
el @& @ 72,000 0@ & SEH W

frell afeR )l 20% T @ S g, @
SH qK] BT BT T T AT °

[1] 60,000 %o
[3] 40,000 %o

[2] 50,000 %0
[4] 65,000 %o

T 2fe § -1 © TaT S

8,13, 21, 32,47, 63,83
[1] 13 [2] 32
[3] 47 [4] 63
T o 89 99 U=f W a1 4
T T Bl 9" 30 64 B gl | Hrar
T 8, 09 fRoM B’ 89 8 e
P13 I M gl &l & ?
[1] 24 [2] 16
[3] 8 (4] 4

Level-2/803
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Find the value of :

\/8+2\/8+2\/8+ ........
[1] 8 2] 10
[3] 11 (4] 4
If each side of the square be

increased by 50%, then find the
percentage increase in the area :

[1] 50% [2] 100%
[3] 125% [4] 150%

11. If X stands for—, + stands for +, + stands
for.=. = stands for X, then what is
the value of 15-5+5%x20+107?
(1170 [2] 78
[3] 75 4] 73
By selling a commodity for

Rs. 72,000, a person made a profit of
20%. What was the cost price of that
commodity ?

[1] Rs. 60,000
[3] Rs. 40,000

[2] Rs. 50,000
[4] Rs. 65,000

Which term is the

following series ?

8, 13,21, 32, 47, 63, 83
[1] 13 [2] 32
[3] 47 [4] 63

wrong in

80. A solid cube is coloured red on all

faces. It is cut into 64 smaller cubes
of equal size. How many small cubes
have no face coloured ?

[1] 24 [2] 16
[3] 8 [4] 4



8l1.

98 T, s = anl 3ot =i
T I AR IwE R R

NEEEE

2] g
3] Foa=

[4] QIOd

82. g8 fore, ST&l SIdMEe Il S 2

[1] 93T

[2] T
[3] BIEER

[4] Q=9

83. BRAM THX Hl 9 I & ded

gREeT % §ue| ga @
gmﬁzﬁ—aﬂ%%a%wﬁmww
?

[1] Ted URAR SN it
[2] 9RER Yea™ 9 e
[3] e RER dYfE FoET

[4] S STER el

BT % UYoEl U9 gegrell H
qigare & fow TR @ T el @
yidsrd ®

[1] 25% [2] 33%
[3] 66% [4] 50%
85. g8 B/, W@l Yeel gx R #
-9 AR fpar T R
[1] Teu™ [2] Hega
[3] AR [4] T&d®

Level-2/803
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[A]

81. The place, which was visited and

mentioned by Chinese traveller Yuan
Chwang :

[1] Agroha

[2] Sugh

[3] Kurukshetra
[4] Panipat

82. The district, where Dolomite is found :

[1] Mahendragarh
[2] Gurugram

[3] Faridabad

[4] Panipat

83. Under which scheme of Haryana

Government the socio-economic
data of all the families of Haryana is
being created ?

[1] Antyoday Parivar Utthan Yojna
[2] Parivar Pehchan Patra Yojna

[3] Mukhyamantri Parivar Samriddhi
Yojna

[4] Jan Aadhar Yojna

84. Percentage of posts which have been

reserved for women in Panchayati
Raj Institutions of Haryana :

[1] 25% [2] 33%
[3] 66% [4] 50%

85. The district, where first time in
Haryana  E-challan has  been
introduced :

[2] Panchkula
[4] Rohtak
P.T.O.

[1] Gurugram
[3] Hisar



[A]

oea e doiee’ [gea e S

@R

[1] Too WHo &Eo 3o o Hio,
BRI THR &N

[2] Sifo THo Elo To, BRATN HXHN
A

[3] THo Jo Slo Uo, ERAMT &N
A

[4] =0 fopE H#9@, 9T @R
A

81. T IAE, Sk HREWT F Iepedr B

BRI Y &R Od WS R e
S B

[1] ETEd o
[2] % af¥rs arare
[3] HERIT Y9 STt
(4] ST orare

&% Bl e @ BT 1 ARG |
WE ?

[1] 11af
[3] 154t

[2] 214t
[4]. 184t

89. &FHT H I T WY T S

AR ¥

[1] fHoSEm™

[2] -eT

[3] aCEt

[4] Tetesar

gﬁmﬂn T g e & O sgE
[1] T & Fegusll

[2] =R AR

[3] T™9 & weleEer

[4] T9 % To9I

[18]

86. 'Global

City Project' is
developed by :
[1] HSIIDC, Govt. of Haryana

being

[2] GMDA, Govt. of Haryana
[3] HUDA, Govt. of Haryana

[4] Ministry of Urban Development,
Govt. of India

81. The award; which is given to a sport

coach«foriexcellence in coaching by
the Haryana State :

[1] :Dronacharya award

[2] Guru Vashistha award
[3] Maharana Pratap award
[4] Arjuna award

88. The position of Haryana in India in

respect of area is :
[1] 11th
[3] 15th

[2] 21st
[4] 18th

89. The smallest (in term of area) wild

life sanctuary is :
[1] Bhindawas
[2] Nahar

[3] Saraswati
[4] Chhilchhila

90. The de jure head of the State

Administration in Haryana is :

[1] Chief Minister of the State

[2] Divisional Commissioner

[3] Advocate General of the State
[4] Governor of the State

Level-2/803



[19] [A]
4R - IV (PART - IV)
USTl (PUNJABI)

91. Jat fog G99 @ ygT IS 95. un3a ‘Afo3d fagst-1' feg fas gua
_ana—ju' ) . Bt T ASH de M3 fag Jfemr
Ug-fdet U= =8 »fygt <t fareat fdat P S
37 [1] 15 a<59 1943 & §, ufamss @
gres fag € fiz Hst sol<ls
[1] 579 [2] A3 N
fey
[3] f3& [4] 4= [2) 08 F®=t 1940 €. &, w3
(IgeHYT) fed
92, Tt T wIF W EamEt @ o [3] 09 »agswg 1932 &, fis fowrsug
Yo fagr ggemug feu
fareat faat a2
[4] 23 @&t 1936 & &, == fis
[1] =7 2] &5 e
[3] =n [4] & (UaHt/ufamagrat drm) feur
93. forsfayz f&9 faust wmygg da=t <t 96. gEfons fiw sfeg fesat ‘gagmr
adt 97 Foat faw e 3 s 37
[1] Horret [2] »rfts [1] 993 € wAge ufuseTs 939 fAw
[3] ¥A andt  [4] dATET AGRE a Fgat I
[2] 8¢ famst W3 Hagat dht fdaat-
94. UAt A=d ushdt f@9 <l9w wAed THIGOAT M3 JHT-Zautt '3
gadt & 9% fare3t fadast I7? [3] d@39" &F € feq Agad € J3a
CAC U L L
[1] A3 2] f3=
[4] Agadt S9d Ue uss  Ifemt
3] & [4] = Tt HAgIhT WS sreTeHt '3

Level-2/803 P.T.O.



[A]

91.

uA3a ‘Afaga fagst-1' feg waq JoaT

‘A=-Ifp JE&T T IESAT IS I7
[1] 39 fAw aHs

2] 7T friur »ies

[3] ggaw fiw afos

[4] 839 fAw Hi9

Hat fergdbut e féq arfger J1 et
fesfant feg fend fan d9 & &% <t
AfenT ger 31 €9 &7 ugTe

[1] S« 2] zat

[3] Saar [4] AT

Bq I3 ‘Hed Hedle' feg ‘Aed Hede

T dt wdg J?

[1] Hoars fe9 €& & AN JEhdt &
ISt T & I&|

[2] mufea dar &9 dfemr féa dam=t
Ba-afed J1

[3] Hedt w3 Hedt aHa @ Uit &
Jdty fu€ = & 31

[4] magd € ffa 993 ASOAT € &F
JI

Level-2/803

[1] afst ffe M8 ffa Harg & usat

T goust § Usdt ASHY duE &7
@35 Ji3T J1
[2] A. 393 fiw & Haige € Ast
e T Joer AT ¥ W3S
g 3
gt goust & €995 = Quamr
g3 91

[3]

[4] 7. g9 fAw < Hagg <t
freafest & fAmer d9s 3 fegr=r
ggget € féa fAuts “sraa AStat
s fa fagor 5 wifs” 3 <&
ysgt & A Jee8E T W3S
gi3T J1

A3y ‘Afosa fagst-1' feg wad 3y
(efes ==t Fdst) T ffa v s,
Je I57
[1] 14 [2] 12

[3] 10 [4] 08



[21] [A]

102. YT & s S9eT Ho=T T &t waE 37 104. st st At de As? Bat € we fdd

- ) 33t & AaH fonr?

[1] €T Jg »Hee™ #t € AU As,
€at € wg fds Uzar & #HeH
fan|

[2] €9 3@ #ee &= # & ysdt ms,
€t € wa U\ U3ar & AaH foum)

[3] €7 @@ a0 =W # & wisdt ws,
€. W3 979 U3d & A fomr

[4]7€T 99 »HeE™ At € RS As,
€5t € W T U3T" & AaH foum

E

[1] &85 W3 A &% g9 A=T

[2] &H3T T AT

[3] far g9 oW & A= Uer

[4] ¥s &t 88t »rer

=
w

AT U™ Us-UAsd I w9d d9sT

=
o1

grandt f8ut feg »ivat € U9t &9 U=

wew It g T e mfog gu faose T DR
- T8 »iyat & farest fdat 97

J M3 95T dE J? 1] & 2] Um
[3] §@ (4] f3=
[1] feg fa 3y J, WoaAI3. dd feret
st J1 106. §v faoar mm At fm3 yorfes T &
wEdTfod f8as © W »ivd & =ubar
[2] feg feq SBa-agr J, feAe 95T o w=s o f S Bar
e & Bt 'F e gar I GUELA
[1] feg fenast fdas e ffa udeter
[3] feT féa »re I, AHT Baret fenet mifgmmua At
- [2] feg der wEdtar € THESIET
Ig&IT J1

gabdr T fdq 37 537 Al
[4] feg féa g8 gu=t J, @dns fAw [3] feg mum wdlds afgen = féd

3II3T gBIT AT
e fereT 39T I [4] feg mum o =oits it

Level-2/803 P.T.O.



[A]

1017.

=
©0

=
(=]

HEs &% BidaT € Ji®l &% W9 Ji
»iJI9d MeHd <7 af & A ?

[1] 393 Ha&
[2] A9 J9as =fest
[3] 95 HIS

[4] 397 ddds

US-YR3d ‘gAr U3t fegst ggst at
3 foezt = wfezgy fags T w2
ferer ggsaT d= I7?

[1] feg fég g@aust T TI-Byd
3T. 9IHE AW wmmae feme Igsad
I5 |

[2] feg fég Ba-3er J1 AHg ISt
™ ferer g9sTag J 1

[3] feg FuaT fea afesr T 3I9&T&
fiw ferer Jgaae J1

[4] feg ffa g8-&ed T APHS Ad6
ferer g9aTa9 JI

ufgee :

2] € €€

NEEE

[3] € m fe ge

[4] €

Level-2/803

[22]

110.

111.

993 € AEdT gHEIU3T IT. €. Ut A
MIES IB8™ ATfgg € yar &F ot A7

[1] meegsT ufag wfdd »Ees a&™H

[2] m=® ufas dAssEEls  WMEES
d&™

[3] »fes Ua9 ASBEls MIEs I&H

[4] wfaeHT U7 Afdem®T WEes I&™

€9 fifeur yuzs F9s s H. F939
foe. fgut = wt?

[1] 15-16 =fgut =

[2] 17-18 A& €T

[3] 19-20 A& &

[4] 21-22 =fgn =

ast & fagst afesr 3 5g3 ysfes
AT ?

[1] &&r dfdfenrs <t afesr ‘Tee
A’ I

[2] &t »H. wW@e € afesr ‘<SHe

33 3

[3] €.

=

g. fabn =t Ifesr GBz Waw
U F

[4] 4. yas fAw < afesr ‘& Afuge
95 Wus’ 3



113.

el
e

‘Fafemit’ @ wdg 3T g fan B
393 & dust pY d9gT fS9 Jfewr ug
few er fegm damT (g93) < g fan
J9 on f3g dfour fewr Aer J1 €7
OF @7 Jf &7 J?

[1] St

[2] et8F

[3] s

[4] Aus

“# foud oW &7 J<, dT »gd U A<,
O @ Jgst AT TII Uy AT I/
feo @m oISt &<t 9 fad femaw @
g AN I T gHIIS 3T Sdt dferT
At?’ farrst gefes ffw Ifes 3y

HEE Mgd T A<’ I ot g2 JI?
[1] g% 937 TUg A<

[2] J€t S A%<t T A=

[3] % MUE My T A=

[4] TE Wz s wr 72

Level-2/803

[23]

TIPS et B3Er g W3 fdg Jgt?
[1] 12 wet 1708 gn=t &, mafde feu

[2] 12 Wet 1716 €=t &, HY mrdeud
Aoy feu

(3112, wet 1710 dwet &, Sus-fest

g Hus f&g

[4] 08 wet 1719 €wst &, =9vde
Aoy fey

‘Afaga fadat-1' yasa feg avm fea
gesT 39 st g
fenmagt = faae &t famr 91 feg
fenast d= I7?

I8  HAIdIHE

[1] Ho=3H™ g7 =7 U39 J|
[2] fé€a Wt unia=z g4t Sy J1

[3] Ham3yT gU = feq fifgg J1

[4] g8c 295 & Tw des BT f&a

fefamrat I



[A] [24]

117. Jetut efiorret @37 fagt feg fimur 120. ‘A" d99 ¥5 €S, wG BER T8 v
fiw & A& € I fH3 a< w3 fam TSt ‘I Higew ST, uet, Fu I Ju
[1] 1958 €inet few Aaa3T feu e et fegat afe-dagtnt &9
T3 I mEE ‘Higew € ot »Eg J?

[2] 1958 €n<t fee, ai6 feu
[1] =a/sayd
[3] 1966 €<t fe9, difdar feu
[2] Hu/mre-Hed
[4] 1962 €nst feg, Aare3T fe

[3] mefvma/mig
4 JYPSVESY
118. UAH wET-§U #MEHd Haw fdal famd 4] s fr
T Je Is?
[1] =n [2] »is 993 T WEHY 93 © G339 =
U fao3-faozs en nfag 57
[3] & [4] &
[1] Hi8ar w3 dasT eF
119. yz3 feforral w3 THcaust g5 3 2] <& w3 Sy
fegrer 37, WuE® I&H Aoy @ €9 [3] gov™ w3 ufama™s
fagg™ pusT At fArd €9 uer &dt ws [4] fiprivig w3 dasT aw
§d A ?

[1] mferma =5 <0 122. gfe gu =8 myre & I 9 -

[2] 793t =t éq € Hait ATH ©
Ufege g5 @7

[1] duf € =t d& d€ T&1

[2] fegst f3at f<9 3% &t
[3] »et. €. WH. MEAd & €7
L. D e [3] f€x Jg &% 3=t &t SAet|
[4] yaftdt & Fggd & g@8<tt T

ydee e [4] »ueT BY9mE, udtenT Etae |

Level-2/803



[25] [A]

123. ‘3% 36 & fow@er Ho=d T ot wi9g 125. “fH3at foy fagaas gAt, &ar g< feat
a 33%%",
J?

35 fefg 393 odt 3™ Y, § T TI=

[1] =er =t uAT & FdaT yeTstar |
2l g e f@g =93 o wue fagez’ 3 4 =
[3] ¥w T FreT I
[1] fas=
[4] fugeT JaaT ] fost

[3] fazmgwr (8¢ Mad €t fazme)

=
N

Ag oy Gemt & afesr ‘hibdi. =t
[4] awter
fegzr f&g wet w39 “fHe wo & Tigs

H<e J6 g3 Hod feg #6d muw = 126. g"ﬁ'@'ﬂj’@_’lghﬁn Shur

o e 37 Jx 3% T g FieEs foF fiE g
ot ¥t ft 99 sty Aoy f&9 Wifas
) et It I?
[2] &g Wi =& [1] f€x gig Afow &
[2] € 3@ mfows &t
[3] s=/fdna
[3] 979 g@t <F
[4] figa/es =33 4] ¥ g &

Level-2/803 P.T.O.



[A]

121. H. Bui fiw & B35 ff9 ar 3

=
N

=
O

WiJled MEAT & I\ W9 & W9 fa3r?
W »igdw »iend ot & At ?

[1] &9 3BIAT

[2] wieas Gs=feq

[3] A&d® AZIH

[4] Asds 3feg

BT d A%’ € J9&dd dS J I
feg goaT wfog © fan gu o7& Adfuz
J?

[1] #aaHt3 d9 : 39

[2] T99As AW aHs : afesr

[3] 3IB9s AW €% : It

[4] J99ws fiw Jes : afest

U=ds JIdgec AI® ME MgdARs €
gg-gut fauts f&a fda yao = gat er
YST™HT 3T J7?

[1] & yag <t
[2] #3 yaa <
[3] »fs Yy &t

[4] & yaa &t

Level-2/803

[26]

130. I9T AY Tdie A € HdAe =T JF & A ?

[1] ¥&&T I3gets

[2] AT I3g<dts gufawTd amat

[3] IH93 WY HUTHEIS HId=det

[4] I@H HIET-G-El5 HHeH JHdT

. ‘Afen At @ feaue e ot vge J7?

[1]/¥g dat & mfen, mfgg W3 wfgdt
s &% AzaT

[2] fefomrs f& &t gobtnt dus =8
feferaghnt & o=t Ha/meer
YE'S qaaT

3] ew &€ 3Jdn=t §, fefomrs @
qI&T

[4] wfén € fefenggtn § uhe-fegs
ST AETE HIThHT JdaT

. Mioamt fegt feg fam ag=t & U39

T EH J?

[1] € &5

[2] & € fumrg
[3] ¥ fam 3 wie aat
[4] =t



133.

=
w

=
(5]

UA3d ‘A3 fagst-2' feg gad ‘W &
gug <t 3 Gug & FusT &t I?

[1] fadT

2] et afesT

[3] a=s

[4] Jur fe39

Afaoga fagst-2 yAsa &9 A afesT

‘IJF-PUEH’ T FIIT e J?
[1] Sf<eq stetudtr

2] {fen qus

[3] ef<eq A=t

[4] uy=& Jadeydt

Adte 993 fiw fan mum & 3Asle &

IHAET MTUS I% dyeT Jer HI?

[1] A. g939 fAw AaTgT & 3A=tT &
[2] must waT A € 3ASe &
[3] mru=st Harse & ISt &

[4] sreet ®®T gefenms & 3ASlT §

Level-2/803
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136.

[
]

=
w

[A]

gEfded fw g9 & quer ‘gt
A € faug Sat &% AdEfuz 97

[1] g3t fET =ne Bat 7%

2] U5 B &8

[3] Hutsaet &9 eAe 3aF 5%

[4] smfest f&g afde SaF o

saq fiw @ 87 =% e & e, fan
geEl T
[1] firra € gt [2] »iT fufemr &5
[3] ufe3T unit [4] foer =g
‘gz &g g3, Wy I e uEt”
e € =93 fag fadt mfast fes
a3t Atet J7?
[1] 7€ a&t der fan <t fAg =
frger mmuE It fag & faor 321
[2] faw J9 & J9g3 T9s, fan d9 <F
gE&s™H I AE 3|

[3] A€ d€F der fan webnr T9a3
F9d MuSt §fEwst My gt ga=r
B2

[4] 7€ d&t Way f&F wAles 9 fsas
d, gndl yAtes f&9 em A= |

P.T.O.
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139. G9g-rodl Y= TS Yduda Ug-fdet 141. G fsmy fagwr 9, fAm ¢ 79 @ A9
i HE¢ HU I& 7
TB niygt I femrer, gendt fut er
to-faet =@ €U fausT »iug T fAng [1] Br3, &, fer
wofsg oo & o gET fefaparstyt [2] udH, &3, ¥37
JIHdt SdensT or fdAT e fapur (4] us, dre, fist
J?
1= JeaTaE M3 Afa3 gy fagmT I?
2] = [1] 4=y gus : =3
[2] afdes ffw : o=t
[3] &
[3] &. w®. JI9qr : feniar By
4] ¥
[4] amile at9 : afesr
140. 9T &9 faost g §8t AT J°? 143. /393 dfeew At faw mgs ‘3 A3t
Af3 e As ?
[1] Wiy
[1] o33 s mas '3
2] =i 2] e fed
[3] 35T [3] rads € AES 3
[4] daz [4] Tt feu
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144. §. 3913 fAw #F € fuzr & & &t #At?

ot

ol

1907 €<t ff9 7 ga= fAw er

3T A& ?

[1] 7. mm 3 AW : HEs (fidhie) &t
75 &g

[2] A. A=9s fAw : »i3s W3 fsdua
(aBuret) & 7y <9

[3] 7. faws AW : Aed® A% &J9
feg

[4] 7. w3 AW : Aeo® #F S
feg

US-UA3E ATI3d da1-1 € yamd dS
g?

[1] dar=t et fest

[2] Aed® §IF e HASdl

fest

EN ~
MHAHS,

[3] Afsa frfymr fegmar, aferrer

[4] gferer rg® frfvnrr 893, faerat

faogT U39 ynsa ‘Afaga dar-2’ feg
¥9d ‘89 I gAsr feardit € aqt I?

[1] uTr [2] =dt9

[3] ¥ W [4] st
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147.

[A]

ANt fefase At € AaH 3 13 I

€T HEd, ¢ 3 d<¢ Id At?

[1] 12 #&=dt 1863 €. 3 04 st
1902 &t 3

[2] 17 =a=qt 1881 €. F 31 Wa9
1931 8t 3

[3]/05 "&vgg 1872 €. I 10 #&5
1957 €. 3

[4] 06 wet 1861 €. 3 08 »Emz
1941 €. 3

3y ‘dfued Agean@ € T93” mMgAg

At-ea™ (G-Trans) at J?
[1] gedt & s f8ut ffe ses<
BT {9 T

[2] dfuGes &t f<Sw BEr Fefonr

FHE & J|
[3] daret e féq ereifisr Argeema J|
[4] Ummst & féa =93 {ang J1

P.T.O.
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149. 3T. N TE »igead & ASH Ie MI 150. ‘fogz = Afsad’ feaelt &g ug JT
fag Ifemr? fenw =ng ¥9 fausr d@s Egnz &t
J?

[1] 14 »u3s 1881 €. &, Ho yenm &
[1] feg featsit féa »ite ug daw €<

fis vy <9
g WsfrasT § sarger J1
[2] 14 »ud®s 1891 & &, =3er [2] feg fearalt féa ¥& mem @& €<
forg © fis wg o9 T ¥a& <t Urget =t gaer I
[3] fags € wAfsag & =u@sr »3
3] 17 <3=dt 1863 &, wuecwe fag
o ) e 879 FgsT My He & HI3=ueeE
3 fils meds fog .
3T JI
[4] 05 =¥=g 1872 & &, asdar fou [4] "egyge FEU I EE-HAgE!

few feafait =r et femr J1
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R @& @
IR TF F T GHE B X 3§l SR IR T H
Sl

6. Answers

to questions in answer sheet are to be
given by darkening complete circle using Black ball
point pen as shown below :

© @ ® ®

The answer will be treated wrong, if it is marked, as given

below :
0 ® & @

If you fill more than one circle it will be treated as a
wrong answer.

10.

11.

12.

13.

14.

15.

16.

11.
18.

19.

20.

. 9l I 390 OMR I TF T & ik H T IT AFYI

. 6 FE -G § 39 WM & [T & T @i e W 8 #X (Rough work should be done only in the space

provided in the Question Booklet for the same.)

SR | I To@ o W o1 (ThE TYS) BTN
s &1 (The answers are to be recorded on the OMR Answer Sheet only. Mark your responses carefully. Whitener
(white fluid) is not allowed for changing answers.)

. T% 99 & 0 RU U =R fowed § § S fagcg & T OMR ST % W #ad 06 99 & & T TE & a9 @Re 0

¥ T TP IR IX Sifhd B B 9% 39 Sea Tel o Gl ol (Out of the four alternatives for each question, only one
circle for the most appropriate answer is to be darkened completely with Black Ball Point Pen on the OMR Answer
Sheet. The answer once marked is not allowed to be changed.)

orepelt giafe #X 6 59 I T B AT T MW T I W FHE AF NN F_FMC, el ST TS X T A
i wm & sfaRed o= 71 foEh (The candidates should ensure that the Answer Sheet is not folded. Do not make
any stray mark on the Answer Sheet. Do not write your Roll No. anywhereelse except in the specified space in the
Answer Sheet.)

- T4 I T B ANGEF T B, Fis B A Rk § (I97-gRam o R % § FHE § e @ Rafy
& W) {H’ﬁ g W e Iuee T WI% Wﬁl (Handle the Question Booklet and Answer Sheet with care, as
under no circumstances (except for discrepancy in Question /Booklet and Answer Sheet Serial No.), another set of
Question Booklet will not be provided.)

HQ‘I—W/W =% ¥ R T wEie B Tl 9 ade A ewe) 9 § g (The candidates should write the correct
Number as given in the Question Booklet/Answer Sheet in the Signature Chart.)

afl # oen S/ § TR W iR TeuN gd ofoRe Rl ser @ argg-are, gd o swiad s & afr,
JoR, MeEA B, gosli-es SUBT A Rl of J & &/l %l & S a1 IWN HA @ A 7@l 81 (Candidates are
not allowed to carry any textual material, printed or written, bits of papers, pager, mobile phone, electronic device or
any other material except the Admit Card and Identity Card inside the examination hall/room.)

e B U8 9N W uE ot STl Jas i (A o) iR wgAM U R@M| (Each candidate must show on demand
his/her Admit Card (Roll No.) and identity card to the Invigilator.)

FE e AT THAEE B A OTAN S [T Pl TRl YT WM 7 B! (No candidate, without special permission of

the Superintendent or Invigilator, should leave his/her seat.)

PR JHAEE B AT IR T [0 [ T sWER G W ASRT sERR Ry faer erwd) wlen g T8 seh Ak e
el 7 gAY 9R SWER 9 W SWRR e R a1 ¥ A e f 3ER I i e e’ & R T HET &
A AT STCT OMR SR O & Feiia @M W ol ol e o ey & oS & e e S 21 S &
MM 10 999 59 99 W SF @ ] % @ @@ Aer § & 0 A el @Rt B AR T o 959 ot o 9 7 &
¥gd P4l (The candidates should not leave the Examination Hall without handing over their Answer Sheet to the
Invigilator on duty and signing the Signature Chart twice. Cases where a candidate has not signed the Signature Chart
second time will be deemed not to have handed over the Answer Sheet and dealt with as an unfair means case. All
candidates have to affix left hand thumb impression on the OMR answer sheet at the place specified which
should be properly inked i.e. they should not be either over inked or dried in nature.)

s%aa’rﬁzs/waﬁa et B SYART afstd %I (Use of Electronic/Manual Calculator is prohibited.)

TR 2 F TR & U, TRl feRlE & & T ukk/Ren-fRw 7 98 & o e @ e @ Ry ee W@ sgRa
et & wf T & daa S » e wd e @ R (The candidates are governed by
Guidelines/Procedure given in the Information Bulletin, all Rules and Regulations of the Board with regard to their
conduct in the Examination Hall. All cases of unfair means will be dealt with as per Rules and Regulations of the Board.)

fepelt e HQ:T-S]:FIEH IR T =% Eﬁg AN T I B (No part of the Question Booklet and Answer Sheet shall
be detached under any circumstances.)

TUE qO BN W, TRl F/2 Bled § [ S T H-THAEE B oA A A1 AR A0 6y 39 9e-gRAH B A

S e R (On completion of the test, the candidate must hand over the Answer Sheet to the Invigilator in the
Room/Hall. The candidates are allowed to take away this Question Booklet with them.)



	803-A.pdf
	ROUGH WORK2.pdf
	803-A_1-30.pdf
	803-A_31-45.pdf
	803-A_46-60.pdf
	803-A_61-90.pdf
	803-A_91-150.pdf
	ROUGH WORK1.pdf
	BACK COVER.pdf



